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B.Ed. DEGREE (TWO YEAR) EXAMINATION, MAY 2018

(For the candidates admitted during the Academic Year

Time : 1% Hours Maximum Marks : 35

~

2016-2017)
Second Year

PEDAGOGY OF MATHEMATICS

J

Answer any FIVE questions.
Each answer should not exceed 300 words.

Each answer carries 7 marks.
(5 x7=235)
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A number consist of two digits whose sum is 11. The

number formed by reversing the digits is 9 less than the

original number. Find the number.
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Prove the theorem that ‘Opposite angles of a cyclic

quadrilateral are supplementary’. (or) ‘The sum of

opposite angles of a cyclic quadrilateral is 180,
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A circus tent is to be erected in the form of a cone
surmounted on a cylinder. The total height of the tent is
49 m. Diameter of the base is 42 m and the height of the
cylinder is 21 m. Find the cost of canvas needed to make
the tent, if the cost of the cloth is ¥ 12.50 per m?2.
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Calculate median for the following data :
Class interval: 0-9 10-19 20-29 30-39
Frequency : 4 6 10 11
Class interval :  40-49 50-59 60-69

Frequency : 12 6 1
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Find the equations of the straight lines passing through
the point (6, —2) and whose sum of the intercepts is 5.
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tan @ N coté
l-cotd 1-tané
Hmays.
Prove the identity

tan @ N cot @
l-cotd 1-tand

=1+tan@ +coté ererry (PHEMT(HEOLOEOWI

=]1+tan@+cotd.

&rés : log g x +log, x +log, x =7.

Solve : log,s x +1og, x +log, x =7.
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